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Guess Paper – 2008

Class – X
Subject – Mathematics
Time allowed: 3 hours







Maximum Marks: 80






SECTION ‘A’ (1 Mark each)

1
If the nth tern of an AP is (2n + 1), find the sum of first n terms of the AP.

2
Find the probability that a number selected from the numbers 1 to 25 is not a prime number when each of given number is equally likely to be selected.
3
If tan A + cot B, prove that A + B = 90º

4
Find the HCF of 96 and 404 by the prime factorization method.  Hence , find the LCM.

5
Give examples of polynomials P(x), G(x), Q(x) and R(x) which satisfy the division algorithm and deg R(x) = 0.

6
Find the values of k for the quadratic equation  kx (x – 2) + 6 = 0 have equal roots.

7
Let ( ABC~ ( DEF and their area be respectively 64 cm² and 121 cm².   If EF = 15. 4 cm, find BC.

8
From a point Q, the length of the tangent to a circle is 24 cm and the distance of Q from the centre is 25 cm.  Find the radius of the circle.

9
2 cubes each of volume 64 cm³ and joined end to end.  Find the surface area of the resulting cuboid.

10
Write the formula of Mode and Median.






SECTION ‘B’ (2 marks each)
11
A bag contains 5 red, 8 white and 7 black balls.  A ball is drawn at random from the bag.  Find the probability that the drawn ball is 


(i)
Not black

(ii) neither red or not white.

12 
Find the sum of all multiple of 9 lying between 300 and 700.

13
In ( OPQ, right-angled at P, OP = 7 cm and OQ – PQ = 1 cm.  Determine the values of sin Q and cos Q.

14
In an equilateral triangle, prove that three times the square of one side is equal to four times the square of one of its altitudes.

15
Find the value of ‘k’ if the points A(4, 2), B (4, k) and C ( 6, - 3) are collinear.






SECTION ‘C’ (3 marks each)
16
Solve the following system of linear equations graphically:



2x – 5y + 4 = 0
;

2x + y – 8 = 0


Also, find the points where the lines meet the y – axis.

17
Prove that: 

1
    _       1    
=            1          _   
    1    





sec x – tan x
         cos x

cosx
     secx   + tan x







OR


Evaluate:
sec² 54º  _-   cot² 36º   +    2 sin² 38º . sec² 52º  -  sin² 45º



              cosec² 57º - tan² 33º

18
If the point P (x, y) is equidistant from the points A (5, 1) and B (- 1, 5), prove that 3x = 2y.

19
The line joining the points (2, 1) and (5, - 8) is trisected at the point P and Q.  If Point P lies on the line 2x – y + k = 0, find the value of K.







OR


The line segment joining the points (3, -4) and (1, 2) is trisected at the point P and Q.  If the coordinate of P and Q ( p, 2) and (5/3, q) respectively, find the value of p and q.

20
Draw a circle of diameter 7 cm.  From a point P outside the circle at a distance of 6 cm from the centre of circle, draw two tangents to the circle and measure s their lengths.

21
Prove that the parallelogram circumscribing a circle is a rhombus.

22
Find the zeros of the quadratic polynomial 3x² - x – 4 and verify the relationship between the zeroes and the coefficient.

23
Prove (3 is irrational number.

24
IN Fig. OACB is a quadrant of a circle with centre O and radius 3. 5 cm  If OD = 2 cm. , find the area of the


(I
quadrant OACB



(ii) shaded region.
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 25
For which values of a and B does the following pair of linear equations have an infinite number of solutions?



2x + 3y = 7; 

(a – b) x  + (a =b) y = 3a + b - 2

SECTION ‘D’ (6 marks each)

26
From a building 60 meters high the angle o depression of the top and bottom of lamppost are 30º and 60º respectively.  Find the distance between lamppost and building.  Also find the difference of height between building and lamppost.

27
A tent is in a shape of a right circular cylinder up to a height of 3 m and conical above it.  The total height of the tent is 13.5 m and radius of base is 14 m.  Find the cost of cloth required to make the tent at the rate of Rs. 80 per sq. m.








OR


A container shaped like a right circular cylinder having diameter 12 cm and height 15 cm is full of ice cream.  The ice cream is to be filled into cones of height 12 cm and diameter 6 cm, having a hemispherical shape on the top.  Find the number of such cones which can be filled with ice cream.

28
Prove that in a triangle, a line drawn parallel to one side to intersect the other two sides in distinct points, divides the two sides in the same ratio.


Using above prove that the quadrilateral ABCD is a trapezium if the diagonal AC and BD of the quadrilateral ABCD intersect each other at O such that  AO   =  BO





OC        OD
29
A boat goes 30 km upstream and 44 km downstream in 10 hours.  In 13 hours, it can go 40 km upstream and 55 km down stream.  Determine the speed of the stream and that of the boat in still water.







OR


In a class test, the sum of Sonal’s marks in Mathematics and English is 30.  Had she got 2 marks more in Mathematics and 3 less in English, the product of their marks would been 210.  Find her marks in the two subjects.

30
The mean of the following frequency distribution is 57.6 and sum of the observations is 50.  Find the missing frequencies f1 and f2.


CI

0 – 20
      20 – 40
40 – 60
          50 – 80 
80 – 100 
100 – 120


Frequency
     7
          f1

    12
               f2                   8

       5



“A good book is the best of friends, the same to-day and for ever”






Prepared By: 
TRILOCHAN WADHWA










      M.COM, B.ED.





PHONE NO: - 20286098

ALL


THE

BEST




TRILOCHAN ASSIGN 

A – 98, NEW MOTI NAGAR, NEW DELHI – 110 015   Ph: 25176448

[image: image2.jpg]
-------------------------------------------------------------------------------------------------------
www.cbseguess.com
Other Educational Portals
www.icseguess.com | www.ignouguess.com | www.dulife.com | www.magicsense.com

